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Mohammed Ziad

1) For each of the following distributions find mean and standard deviation then
interpret the standard deviation of the data
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Lesson 8-3 Math 11
Analyzing Population Data Advanced

Worksheet

a) 18, 20,29,28,17,50,44,39,35,41

b) 105, 114,129,199, 197,185, 160, 175,91, 55

c)8.1,4.6,9.3,154,19.7,7.9,31.4,21.1,14.5,15.9

2) Ahmed is comparing the heights of the plants in his garden with the heights of the
plants in his neighbor’s garden. Compare between the data that he has got.

Ahmed’s plants heights

The neighbor’s garden
plants heights
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Answer

=\

u=32.1 |, o=10.94

The average of the data is 32.1 and they deviate 10.94 from the
average which means that most of the data are between 21.16 and
43.04

u=141 o =46.92

The average of the data is 141 and they deviate 46.92 from the average
which means that most of the data are between 94.08 and 187.92

u=14.79 , oc=17.53

The average of the data is 14.79 and they deviate 7.53 from the
average which means that most of the data are between 7.26 and
22.32

pn,=44.42 |, ¢,=18.16
Hr = 76.17 B o) = 9.56

The average height of his neighbor’s plants is bigger but their deviation
is less than Ahmad’s plants
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